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B.Com. (First Year) EXAMINATION, 2018
A.B.S.T.

Paper -11
BUSINESS STATISTICS

Time: Three Hours
Maximum Marks: 100

PART - A (Gvs — 3]) [Marks: 20]
Answer all questions (50 words each).

All questions carry equal marks.

W ge7 1791 & JRE g9 BT FIY 50 ] W 3B T &/
T 7o & S THT &
PART - B (5vs — §) [Marks: 50]
Answer five questions (250 words each).
Selecting one from each unit. All questions carry equal marks.
URIE §HE W VH—9F 97 g7d §9 Fl g J97 B/
Tl Je7 BT FTv 250 F<] W HEd T &l
T 7o & S THT &
PART - C (Gvs — @) [Marks: 30]

Answer any two questions (300 words each).

All questions carry equal marks.

P ] FoT BT Fedb o7 T SV 300 Isq] 7 fFE 7 &/
vt got & 3ip wHT &
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PART -A / Yis— JH
Q.1 (1) State the meaning of Primary Data.
g1 THe BT 3ref IdTgd |
(i1)) What are the main sources of secondary data?
fediIes FHa! & U TAId di 9 57
(ii1) What is Geometric mean?

U AT {9 wed 87

(iv) What is Skewness?
faymeT @ /7

(v) Find coefficient of correlation between x and y series:
Number of pairs of items 20
X series arithmetic mean 30
Standard deviation 15
y series arithmetic mean 40
Standard deviation 25

Sum of the product of corresponding deviations from respective means of x
and y series = 6750

X TAT y Aol § HgHee Yol S By —

U™ DI FE=AT 20

X 07 FHR e 30
g faere™ 15
y S0 AR A 40
g e 25

x @y Sl & aodardl Al 4 foRl T fdererdl & Jomsi BT AT = 6750
(vi) Define the time series.

BT SN B gRATRT DI |
(vii) What is meant by consumer’s price index?

QUHIFIT I FaADBIh | &RIT 3 &7
(viii) What do you understand by ‘Association of Attributes’?

O g W Y FIT FAS 22

(ixX) How many different words can be formed, using the letters of the word
‘BETTER’?
3 ‘BETTER’ # 39 dTel 3Rl | fdhad IIelT—3TelT I g9 S Fahd
g7

(x) What is Poisson distribution?
WA g T 87
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Q.2

Q3

Q4

Q.5

PART -B / GUs— ¢
UNIT -1/ 18 — 1

Distinguish between primary and secondary data and also discuss in brief the
various methods used in collection of primary data.

i T4 fgdiae e # R 9d1gd aT Ui FHGT & Uha H H AN
DI A arell A= Qfcar a1 W Herg § fqa==r s |

OR / 3¥dar
What is Questionnaire? How does it differ from a schedule? What precautions
should be taken in to consideration while drafting Questionnaire?

geEael e FEd ©° I8 gl ¥ b9 UBR = 8?7 UerEel a9k GHI Hid
— P AT AR G ATfR?
UNIT -11/ s&18 —1I

What is the difference between dispersion and skewness? Explain the various
methods of measuring skewness?

Jafdbror 3R fawqar & w7 orar 27 fawwar " o fAafi= Afeal & e
BHIFT |

OR / 3¥ar
From the following data calculate the Karl Pearson’s coefficient of skewness :
Marks (above) Number of students
0 150

10 140

20 100

30 80

40 80

50 70

60 30

70 14

80 0
frferRaa rimel & dret TR &7 fawsar e S IR |
SERGICIEED forenfery a1 <

0 150

10 140

20 100

30 80

40 80

50 70

60 30

70 14

80 0
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UNIT 111 / s — I

Q.6 Find out Karl Pearson’s coefficient of correlation between the age and playing habits

of the students from the following data:

No. of Students Regular players

200
150
90
48
30
12

f=ferRad et | faenfeial @1 My dem Weld &1 3fad & ALY Blel [UIET Bl

Age

15 250
16 200
17 150
18 120
19 100
20 80

HE e oD ST BTG —

SR

15 250
16 200
17 150
18 120
19 100
20 80

200
150
90
48
30
12

OR / 3dr

Q.7 The following figures relate to heights of 8 fathers and their Son’s:

Height of father (in inches) Height of Son (in inches)

65
66
67
67
68
69
71
73

67
68
64
68
72
70
69
70

Obtain regression equations by calculating both regression coefficients. Estimate the

likely height of the Son when father’s height is 67.5 inches.
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Q.8

Q9

33 fUdmRil 3R I91a Al & Hag d Nds 4 UPR © —
fOaT &1 erg (3= 4)  gF B s (g )

65 67
66 68
67 64
67 68
68 72
69 70
71 69
73 70

Tl YA T[0T ST DISTY, YA FHIBROT W1 918 | JF &1 F41fdd
SIS ST HIY Seafes dar &1 $aT1s 67.5 39 81|

UNIT -1V / g&TE -1V

From the following data obtain the fishers ideal index number.

Year Rice Wheat Barley
Price Qty. Price Qty. Price Qty.
2016 4 50 3 10 2 5
2017 10 40 8 8 4 4
A Sridel 9 fheR &7 ereel gawis S B |
Ty EICK| RS EISN
I | g qT=] 73 AT
2016 4 50 3 10 2 5
2017 10 40 8 8 4 4
OR / 3eqdr

What are the different methods to measure long-term trends?

Gard BIelE YgRy &1 a9 1 faf= et qarsy |
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UNIT-V/ 3o -V

Q.10 (1) What is the probability of drawing a diamond or a king from a pack of 52
shuffled cards?

He T RN B TH TSe! 4 A Udh g€ DI gl T Udh qaene Hdrel o
B FT UTdHar 272

(1) A bag contains 3 black, 3 white and 4 red marbles. Three marbles are taken out

from the bag at random. Find the probability of drawing one black, one white
and one red marble.

Uh Il H 3 Plell, 3 Aha AR 4 A el 2 | A Mierdl Agfod wu A
Tl STl €1 U Blell, Tb Ahe AR Teb offel el & Heblel S Bl
uTRrear fFrafer |

OR / 3idr
Q.11 What is meant by theoretical frequency Distribution? Discuss the Salient features of
the Binomial Distribution.

AgTi<ie AgRT del b1 FaT 3fef &7 fgue g & Jeg ol &l fademr I |
PART-C / Us— Y
Q.12 Define Statistics. Discuss its nature, scope and also discuss its limitations.
iR B aR|TST T | $ADT TR YT &5 BT oI BT T A3 b1
qUe IR |

Q.13 Calculate Karl Pearson’s coefficient of skewness by finding out Arithmetic Mean,

mode and standard deviation.

Measurement Frequency
0-10 10
10-20 12
20 - 30 18
30-40 25
40 - 50 16
50-60 14
60 - 70 5
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AR Aed, gId AR YA faae o @R drol fUgds & fawsar &1 o
I |

T TR
0-10 10
10 - 20 12
20 - 30 18
30-40 25
40 - 50 16
50 - 60 14
60 - 70 5

Q.14 The following data relate to literacy and unemployment in a group of 500 persons.
You are required to calculate Yule’s coefficient of association between literacy and

unemployment. Interpret it.

[lliterate unemployed 220
Literate employed 20
[lliterate employment 180

1 FH& 500 AMRTAT # AIERAT T dHRI | HERId & | S AT AERaAT oI
9HNT § A BT YOI — A N AT DI qAT IHH eapy (Hpifery |
fFReR R 220

AER ISR e 20

fRER AR 180
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Q.15 Below are given the figures of production (in thousand Quintals) of a Sugar factory-
(1) Fit a straight line trend by the method of least squares

(11) Estimate the trend value for the year 2019

(Year) Output (in 1000 quintals)
2011 80
2012 90
2013 92
2014 83
2015 94
2016 99
2017 92

A SAMET B dlell U Bhagl & Sl & afd (BoR fadded #) i iy
T |

() gAad T AT gRT WRel v SuAfa Mied i |

(i) a9 2019 & foIg IUART HeT BT AU BIY |

Cp)) Iared (89X fadear #)
2011 %0
2012 90
2013 92
2014 83
2015 94
2016 99
2017 92

Q.16 What are the Chief properties (Characteristics) of Normal distributions? Describe
briefly the importance of Normal distribution in statistical analysis.
JHARI 99 &1 ugE 07 g4 ([AIvam) @1 87 AiR@ fagelyor # wr=g ged
DI HET BT GlET quiF BIfTY |
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